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100 Questions

Que. 1

Directions: Read the sentence to find out whether there is any error in it. The error, if any, will
be in one part of the sentence. The number of that part is the answer. If there is no error, the

answer is (5). Ignore errors of punctuation, if any.

As per the present market scenario, we have only /(A) two options in front of us- either importing the raw
materials from abroad /(B) or taking care of the entire production in our country. Although, /(C) the second
option seems most sustainable, and the board of directors is concentrating on that. /(D)

1.
2.
3.
4.
5.

A
B
C
D

No error

Testbook Solution Correct Option - 4

Que. 2 Read the sentence below to find out if there is any error in it. The error, if any, will be in one

part of the sentence. The letter of that part is the answer. If there is no error the answer is (5).

(Ignore errors in punctuation if any).

Three men were arrested for alleged (A)/ impersonating civic body officials (B)/
and extorting money from shopkeepers (C) /in east Delhi’s Mansarovar Park, the police said on Sunday. (D)/.

No Error. (E)
1. A
2. B
3. C
4. D
5. E

Testbook Solution Correct Option - 1

Que. 3 In the question below, three statements are given which may or may not be grammatically

correct. Identify the statement/statements that is/are incorrect.

I. Young people in China eats more snacks than people of the same age in other Asian countries.

II. He spends a good deal of money on gadgets.

III. Without waiting for instructions from the Government, some cable operators in the city had block the

news.
1.
2.
3.
4.
5.

Only I

Only II

Only III
Only I and IT
Only I and III

Testbook Solution Correct Option - 5

Que. 4 In the question below, three statements are given which may or may not be grammatically

correct. Identify the statement/statements that is/are incorrect.

1. When shall we arrive to our destination?

II. Neither Virat nor Ajay were there at the theatre when I went there.

III. Thirteen kilometers is a long distance to walk.



I. Onlyl

2. Only Il

3. OnlyIll

4. OnlylandII

5. Only I and IIT
Testbook Solution Correct Option - 4

Que. 5 Directions: In the following sentence, one part of the sentence has an error, and the other parts
are correct. Find out which part has an error and mark it as your answer. If there is no error,
mark ‘No error’ as your answer. Ignore the error of punctuation, if any.

Though the town found the prank hilarious. /(A) Taylor, the head of the town council posted a notice asking
who the prankster is / (B) and why was he creating havoc in the town. /(C) I do not know what is wrong with
him, he feels like whoever did this will come clean to him. /(D) No error. /(E)

1. A
2. B
3. C
4. D
5. E

Testbook Solution Correct Option - 3

Que. 6 Find out the most effective word from the given options to fill in the blanks of the following

questions.
The building was with graffiti.
She the book by writing on it.
1. adorn
2. enhance
3. defaced
4. garnish

5. decorate
Testbook Solution Correct Option - 3

Que. 7 Find out the most effective word from the given options to fill in the blanks of the following

questions.
His sense of and fair play made him refuse the offer.
My neighbour has no sense of and often walks around naked in his backyard.

1. discourtesy
2. disrespect
3. insolence
4. rude
5. decency
Testbook Solution Correct Option - 5

Que. 8 Find out the most effective word from the given options to fill in the blanks of the following
questions.

This certification provides project managers with a professional from the Project Management
Institute.



Singer and actress Beyonce can add a new to her resume.
1. credential
2. autocracy
3. severity
4.  dictator
5. tyranny
Testbook Solution Correct Option - 1

Que. 9 Select the phrase/connector from the given three options which can be used to form a single
sentence from the two sentences given below, implying the same as expressed in the statement
sentence.

Maxine was the topper in her class. Sasha was in the bottom three.

1. Notwithstanding

2. Whereas
3. Unless
1. Onlyl1
2. Only3
3. Both1and3
4. Only?2

5. Both2and1
Testbook Solution Correct Option - 4

Que. 10  Select the phrase/connector from the given three options which can be used to form a single
sentence from the two sentences given below, implying the same as expressed in the statement
sentence.

Global warming has not stopped because of the global pandemic. We have learned that Mother Nature
responds positively to our improved behaviour

1. How we have learned
2. Behind global warming
3. While global warming
1. Onlyl
2. Only2
3. Only3
4. Both1and3

5. Both2and3
Testbook Solution Correct Option - 3

Que. 11 Select the phrase\connector from the given three options which can be used to form a single
sentence from the two sentences given below, implying the same as expressed in the statement
sentence.

I was not in a situation to step out of the house yesterday because of my severe headache. I attended the sales
meeting at my office on the instructions of my senior management.

I. Since
II. Notwithstanding
II1. Still

1. Onlyl



2. Only Il and III
3. OnlylIl
4. OnlylandII

5. None of these
Testbook Solution Correct Option - 2

Que. 12 Rearrange the following five sentences/group of sentences (A), (B), (C), (D), and (E) in the
proper sequence to form a meaningful paragraph; then answer the questions given below
them.

(A) Large species such as elephants, rhinoceroses, large primates, tapirs and peccaries are the first animals to
disappear in fragmented rainforests.

(B) Human population growth results in changes in land-use, which can cause natural habitats to become
fragmented, altered, or destroyed.

(C) This finding suggests that disturbances aftected the local animals' willingness and ability to travel
between patches.

(D) Large mammals are often more vulnerable to extinction than smaller animals because they require larger
home ranges and thus are more prone to suffer the effects of deforestation.

(E) A case study from Amazonian Ecuador analyzed two oil-road management approaches and their effects
on the surrounding wildlife communities.

Which of the following should be the LAST sentence after rearrangement?

1. C
2. D
3. B
4. E
5. A

Testbook Solution Correct Option - 1

Que. 13 Which of the following should be the THIRD sentence after rearrangement?

1. A
2. D
3. C
4. B
5. E

Testbook Solution Correct Option - 1

Que. 14 Which of the following should be the SECOND sentence after rearrangement?

1. D
2. C
3. B
4. A
5. E

Testbook Solution Correct Option - 1

Que. 15 Which of the following should be the FIRST sentence after rearrangement?
1. A



AW N
m O @

5. D
Testbook Solution Correct Option - 2

Que. 16 Which of the following should be the FOURTH sentence after rearrangement?

1. D
2. C
3. E
4. B
5. A

Testbook Solution Correct Option - 3

Que. 17 Directions: In the following question, a sentence is given with four words marked as (A), (B),
(C) and (D). These words may or may not be placed in their correct order. Four options with
different arrangements of these words have been provided. Mark the option with the correct
arrangement as the answer. If no rearrangement is required, mark option (5) as your answer.

One day an old hen(A) whose name was Cluck-cluck went into the blueberries(B) with her little chick(C)
Tuppen to get some woods(D) to eat

1. A-B
2. B-C
3. C-D
4. B-D

5. No rearrangement

Testbook Solution Correct Option - 4

Que. 18 Directions: In the following question, a sentence is given with four words marked as (A), (B),
(C) and (D). These words may or may not be placed in their correct order. Four options with
different arrangements of these words have been provided. Mark the option with the correct
arrangement as the answer. If no rearrangement is required, mark option (5) as your answer.

We discovered a small penknife(A) with a single notches(B) broken off about the middle and very rusty(C),
besides having two or three blade(D) on its edge

1. A-B
2. B-D
3. CD
4. A-D

5. No rearrangement

Testbook Solution Correct Option - 2

Que. 19 Directions: In the following question, a sentence is given with four words marked as (A), (B),
(C) and (D). These words may or may not be placed in their correct order. Four options with
different arrangements of these words have been provided. Mark the option with the correct
arrangement as the answer. If no rearrangement is required, mark option (5) as your answer.

There was a afterward(A) going on for a long time for marriage(B) between one of the king's sons, first
Henry, and negotiation(C) Charles, and a princess(D) of Spain

1. A-B



2. B-C
3. C-D
4. A-C

5. No rearrangement

Testbook Solution Correct Option - 4

Que. 20 In the following question, a sentence is given with four words marked as (A), (B), (C) and (D).
These words may or may not be placed in a correct order. Four options with different
arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer.

The survivors(A) of living in a concentration(B) camp was so agonizing(C) that trauma(D) couldn’t get
over it easily.

1. C-D
2. A-D
3. B-D
4. A-B

5. No arrangements
Testbook Solution Correct Option - 2

Que. 21 Direction: In the following question a sentence is given with five words marked as (A), (B),
(C), (D) and (E). These words may not be placed in their correct order, five options with
different arrangements of these words are provided. Mark the option with the correct arrangement as
the answer. If no rearrangement is required, mark option (E) as your answer.

The US reference dictionary Merriam-Webster will change its suggestion(A) of the word racism at the
definition(B) of a young black(C) woman, who wanted it to better reflect the oppression of people of
colour(D).

1. A-B
2. C-D
3. A-D
4. B-C

5. No rearrangement

Testbook Solution Correct Option - 1

Que. 22 Directions: In each of the following questions, one phrase has been given and it has been
followed by four sentences. You have to find out in which of these sentences phrase has been
used properly according to its meaning and mark your answer from the options denoted by 1,2,3,4.
Mark 5. As your answer if you find that phrase has been applied properly in all the sentences.

Tick off
I. Jackie shared things to tick off the list before leaving home for an international holiday.
II. I am very ticked off with my sister for using my cell phone without asking.

II1. Please read the complete list and tick off the appropriate boxes.

1. TandIII
2. Il'and III
3. OnlylIl
4. TandII

5. All are correct
Testbook Solution Correct Option - 5



Que. 23 Directions: In each of the following questions, one phrase has been given and it has been

followed by four sentences. You have to find out in which of these sentences phrase has been
used properly according to its meaning and mark your answer from the options denoted by 1,2,3,4.
Mark 5. As your answer if you find that phrase has been applied properly in all the sentences.

Up in arms
I. Environmental groups are up in arms about plans for fracking in the area.
II. Local residents are up in arms over plans to build a new motorway.

II1. His decision to leave the team just on the eve of the intercollegiate tournament was certainly up in arms.
1. Onlyl

2. Only III
3. TandIl
4. TandIII

5. All are correct

Testbook Solution Correct Option - 3

Que. 24 Directions: In each of the following questions, one phrase has been given and it has been
followed by four sentences. You have to find out in which of these sentences phrase has been
used properly according to its meaning and mark your answer from the options denoted by 1,2,3,4.
Mark 5. As your answer if you find that phrase has been applied properly in all the sentences.

On cloud nine
I. The grandmother was on cloud nine to see her grandson after a long time.
II. She’s been on cloud nine since she heard the news of her engagement.

III. Nikki was on cloud nine and the joy and excitement that radiated from her was infectious.

1. OnlyIll
2. TandII
3. OnlylI

4. Il and III

5. All are correct

Testbook Solution Correct Option - 5

Que. 25 Read the passage given and answer the questions that follow. Your answers should be based
only on the passage.

Curiosity is the desire to learn, to understand new things, and to know how they work. Curiosity can manifest
in many ways, as the desire to read the gossip columns or watch reality shows on TV, or as the desire to know
about people and their lives. It can also manifest as the desire to accumulate knowledge about science,
geography, or other topics, or as the urge to know how to fix things. Curiosity is the expression of the urge to
learn and acquire facts and knowledge. It widens the mind and opens it to different opinions, different
lifestyles, and different topics. Curious people ask questions, read and explore. They are active in seeking
information or experience and are willing to meet challenges and to broaden their horizons. They are not
shy to ask questions and delve deeply into the topic that interests them.

Curiosity can be directed to and details, or to matters that are more important. It can also
lead to learning, acquiring knowledge, and becoming an expert in one’s field. Curiosity is a vital ingredient
for becoming a good journalist, writer, inventor, or scientist. Curiosity is important for excelling in any job
and doing it better, because you ask questions, learn from others, and look for ways to do your job better. The
mind of curious people is active. They want to know and to understand. This puts them in a better position to
learn a job and do it better and more creatively, unlike a person who lacks curiosity. When curious people
fail, they analyze their failure, because they are keen on knowing the reasons, so they can do better the next
time. This increases their chances for success. Being curious is important for excelling in any job and doing it
better, because you ask questions, learn from others, and look for ways to do your job better.




Which of the following expresses the opposite meaning to the word 'accumulate'?

1.  Gather

2. Garner

3. Dissipate
4. Anticipate

5.  Cumulate

Testbook Solution Correct Option - 3

Que. 26 Which of the following has a similar meaning to “obtain” in the context of the passage?
1. Analyze
2. Expression
3. Learning
4. Excelling
5. Acquire
Testbook Solution Correct Option - 5

Que. 27 Which of the following is correct about the curious persons as per the passage?
1. They are hesistant to ask questions
2. They don't ask questions but still look for ways to do their job better
3. They always think that they are superior and don't try to learn from others
4. They ask questions and learn from the others
5. They learn from others but don't look to do their ways better
Testbook Solution Correct Option - 4

Que. 28 Which of the following is not correct as per the passage
1. Curiosity widens the mind and opens it to different opinions
2. Curiosity is a vital ingredient for becoming a good journalist, writer, inventor or scientist

3. When curious people fail, they analyze their failure, because they are keen on knowing the reasons,
so they can do better the next time

Curiosity is the expression of the urge to learn and acquire facts and knowledge

5. Curious people are not active about seeking information or experience, and are willing to meet
challenges and to broaden their horizons

Testbook Solution Correct Option - 5

Que. 29 Curiosity can be directed to and details.

1. Silence, Important
2. Violence, Illogical
3. Gossip, Unimportant
4.  Gossip, Important
5. Violence, Important
Testbook Solution Correct Option - 3

Que. 30  Which of the following means ""broaden their horizons'?

1. to get extra infromation about anything



expand one's range of interests, activities, and knowledge.
To disclose the secret of anyone

Eall

Broaden the dimensions of an area
5. Get two things done with a single action
Testbook Solution Correct Option - 2

Que. 31 Directions: A pie chart below shows the percentage distribution of employees from the different
departments namely A, B, C, D and E and the total number of employees in the company is 560.
The following table gives the ratio of males and females corresponding to the departments. Study the pie
chart and answer the given questions.

Total Employees = 560

The ratio of
male
employees to
female
employees

75:23
5:2
2:5
10: 11
13:15

Departments

m| 9| O W| >

How many female employees working in departments B and C together?

1. 40
2. 50
3. 60
4. 70
5. 80

Testbook Solution Correct Option - 3

Que. 32 How many male employees working in departments B and D together?
1. 120

2. 130
3. 140
4. 150
5. 160



Testbook Solution Correct Option - 3

Que. 33 What is the ratio of the number of female employees from department C and D together to that of

3.

1
2.
3.
4

the male employees working in department B and D together?
35:43
16 : 35
35:16
35:99
99:35

Testbook Solution Correct Option - 2

Que. 34 What percentage of the total number of employees working in department B is more than the total

5.

1
2.
3.
4

number of employees working in department E?
15%
20%
25%
30%
35%

Testbook Solution Correct Option - 3

Que. 35 Find out the department in which the number of male employees is maximum.

1.
2.
3.
4.
5.

A

C aw®

E

Testbook Solution Correct Option - 1

Que. 36 Three pipes A, B and C can fill a tank in 6 hours together. All three pipes are opened for 2 hours,

and then pipe C is closed. The remaining part of the tank is filled by pipes A and B in 7 hours. How

much time will pipe C take to fill the empty tank alone?

1.
2.
3.
4.
5.

14 hours
18 hours
20 hours
12 hours

None of these

Testbook Solution Correct Option - 1

Que. 37 2 men can complete the job in 24 days. If the faster one can alone complete the job 20 days faster

AR

than the second man, find the time taken by faster man to complete the work.
68 days
48 days
60 days
20 days
40 days



Testbook Solution Correct Option - 5

Que. 38 A train of length 210m takes 1/5 min to pass over another train 270 m long coming from the
opposite direction. If the speed of the first train is x km/hr and the speed of the second train is (x +
12) km/hr, then, find the value of x?

1. 66
2. 64
3. 60
4. 72

5.  None of these
Testbook Solution Correct Option - 1

Que. 39 [faboat goes 14 km upstream in 84 minutes and the speed of the stream is 6 km/h then what will
be the speed of the boat in still water?

1. 16 km/h
2. 22 km/h
3. 18 km/h
4. 12 km/h
5.  None of the above
Testbook Solution Correct Option - 1

Que. 40 A vessel is full of a mixture of kerosene and petrol in which there is 20% kerosene. 5 litres are
drawn off and then the vessel is filled with petrol. If the kerosene is now 15%, how much does the
vessel hold?

1. 30 litres
2. 35 litres
3. 26 litres
4. 32 litres
5. 20 litres

Testbook Solution Correct Option - 5

Que. 41 Ratio of difference between the ages of father and son and sum of ages of father and son is 3 : 10.
If the difference of the age of father and son is 24 years, then find the age of Father.

1. 52 years
2. 28 years
3. 104 years
4. 80 years
5. None of the above
Testbook Solution Correct Option - 1

Que. 42 Aman, Bijoy and Chandra subscribes together Rs. 50,000 for a business. Aman sub-scribes Rs.
4,000 more than Bijoy and BijoyRs. 5,000 more than Chandra. Out of a total profit of Rs. 35,000
Aman receives

1. Rs. 8,500
2. Rs. 14,700
3. Rs. 11,998



4,
5.

Rs. 12,600
Rs. 9,250

Testbook Solution Correct Option - 2

Que. 43 In a society number of males are 80 more than the number of females, in total number of males

30% are boys and in females 35% are girls and rest are adults. If the number of girls is 15 less than

the number of boys. Calculate the total population of the society.

1.
2.
3.
4.
5.

440
450
500
520
580

Testbook Solution Correct Option - 1

Que. 44 Avinash bought an iron at some price, later he sold it to Praveen at 10% profit. However Praveen

damage the iron and spent Rs.1500 for it's repairing and later sold it to Piyush at a loss of 25%.

What is the price at which Avinash brought the Iron, such that if he directly sold the iron to Piyush he would
have gained a profit of 5%?

1.
2.
3.
4.
5.

Rs.4500
Rs.4800
Rs.6200
Rs.5500
Rs.5000

Testbook Solution Correct Option - 5

Que. 45 Directions: Study the paragraph and answer the questions that follow.

50 students in each section of the class. In the sections A, B and C of class 1

In a senior secondary school, every class is divided into six sections A, B, C, D, E and F. There are

0t the girl to boy ratio is 2 : 3,

while in sections D and E, the girl to boy ratio is 3 : 7. On the other hand, there are equal number of boys and
girls in the section F of class 10, The number of boys in the sections A and B of class 12t is 80% and 90%

of the number of boys in the sections A and B of class 1

0'h, While, the number of girls in the other sections

of class 12" is 60% of the number of boys in the respective sections of the class 10th,

How many total number of girls are there in the sections A, B and C of class 10th?

1.
2.
3.
4.
5.

30
45
60
75
90

Testbook Solution Correct Option - 3

Que. 46 How many boys are there in the section A of class 12the

AR S

20
24
28
30
36



Testbook Solution Correct Option - 2

Que. 47  How many girls are there in the section C of class 12the

5.

1
2.
3.
4

12
15
18
20
24

Testbook Solution Correct Option - 3

Que. 48  How many total number of boys are there in the sections D and E of class 12the

5.

1
2.
3.
4

21
58
35
42
50

Testbook Solution Correct Option - 2

Que. 49

In the given question, two equations numbered | and II are given. You have to solve both the
equations and mark the appropriate answer-

(i). 9x% — 75x + 100 =0

(ii). y2 - 25y + 154 =0

Ifx<y

Ifx>y

Ifx>y

Ifx<y

If x =y or relationship between x & y cannot be established.

1.
2.
3.
4.
5.

Testbook Solution Correct Option - 1

Que. 50

In the following question two equations numbered I & II are given. You have to solve both the
equations and mark answers.

(i). 5x% — 18x + 16 =0

(ii). Y2 =21y + 104 =0

Ifx<y

Ifx>y

Ifx>y

Ifx<y

If x =y or relationship between x & y cannot be established.

1.
2.
3.
4.
5.

Testbook Solution Correct Option - 1

Que. 51

In the following questions two equations numbered I and II are given. You have to solve both the
equations and find the relation between x and y.

Lx2+3x+2=0

IL. 2y% = 5y



1. x<y
2. x>y
3. x<y
4. x>y
5. x=y
Testbook Solution Correct Option - 1

Que. 52 In the following question two equations are given. You have to solve these equations and determine
relation between x and y.

Lx2-5x—14=0
ILy>— 15y +56=0
1. x<y
2. x>y
3.  x =y OR the relationship cannot be determined
4. x>y
5. x<y
Testbook Solution Correct Option - 5

Que. 53 In the given question, two equations numbered | and II are given. Solve both the equations and
mark the appropriate answer.

L2x2+16x-18=0
ILy2-6y+5=0
I. x<y
2. x>y
3. x =y OR the relationship cannot be determined
4. x>y
5. x<y
Testbook Solution Correct Option -5

Que. 54 In the following question two equations are given. You have to solve these equations and determine
relation between a and b.

L12x2+16x-3=0
Ly2-7y+12=0

I. x<y
2. x>y
3. x=yorCND
4. x<y
5. x>y

Testbook Solution Correct Option - 1

Que. 55 Wwhat is the boy to girl ratio in the section F of class 12tho
1. 3:2
2. 4:1
3. 5:3



4. 7:3
5. 9:1
Testbook Solution Correct Option - 4

Que. 56 Direction: Read the following graph carefully and answer the following questions :
Graph shows number of students in a college in five years.

Total number of students = boys students + girls students

Number of students
000

2500

2000 &

® Boys

1500 &
// —=—Girls
1000 :"_,,..-

300

2005 2006 2007 2008 2009

In the year 2005, if 10% of boys students and 25% of girls students graduated from college then what will be
the average number of students who are admitted into the college in the same year?

1. 410

2. 550
3. 680
4. 700
5. 750

Testbook Solution Correct Option -5

Que. 57 45% of boys students in each year are using the library, approximately the number of boys students
who are not using the library in the year 2008 is what percent of a total number of boys students
who are not using the library in all five years?

1. 46%
2. 45%
3. 24%
4. 55%
5. 26%

Testbook Solution Correct Option - 3

Que. 58 What percent of the total number of students in the year 2009 is of total number of students in all
five years?

1. 19%
2. 20%
3. 22%
4. 28%



5. 26%
Testbook Solution Correct Option - 5

Que. 59 The percentage of girls students who are using Scooty are 40%, 35%, 55%, 60% and 70% in five
years respectively then approximately the number of girls students who are using Scooty is what
percent more than the number of girls students who are not using Scooty?

1. 22%
2. 20%
3. 24%
4. 26%
5. 29%

Testbook Solution Correct Option - 5

Que. 60 If20% of boys and 35% of girls students in five years are placed in the company, then what is the
ratio between the boys and girls students who are placed in five years?

1. 117:48
2. 48:67

3. 60:119
4. 119:117
5. 117:60

Testbook Solution Correct Option - 3

Que. 61 What should come in place of the question mark '?' in the following number series?
20, 20, 41, 125, 503, ?

1. 2417
2. 2487
3. 2519
4. 2119
5. 2389

Testbook Solution Correct Option - 3

Que. 62 What should come in place of question mark ‘?’ in the following number series?
182, 186, 202, ?, 302, 402

1. 238
2. 240
3. 225
4. 235
5. 230

Testbook Solution Correct Option - 1

Que. 63 What should come in place of the question mark '?' in the following number series?
512,256, 384,960, ?, 15120
1. 2740
2. 4580
3. 3360



4,
5.

552
712

0
0

Testbook Solution Correct Option - 3

Que. 64 What should come in place of the question mark '?' in the following number series?

5.

1
2.
3.
4

45
56
72
35
64

722,363, 124, 2, 12, 8

Testbook Solution Correct Option - 4

Que. 65 What will come in place of question mark '?" in the following number series?

5.

1
2.
3.
4

144
197
154
170
161

4,10,22,42,72,114,?

Testbook Solution Correct Option - 4

Que. 66 Study the following information and Answer the questions given below:

Six persons A, B, C, D, E, F are sitting around a circular table facing the center and likes different

Fruits viz. Apple, Banana, Orange, Grapes, Mango and Pomegranate, but not necessarily in same order. E sits
third to the left of F. The one who likes Banana is an immediate neighbor of F. F neither likes Apple nor
Banana. The one who likes Apple sits second to the right of the one who likes Banana. Only one person sits
between the one who likes Pomegranate and E. A likes Oranges and sits at immediate left of D. B sits third to
the right of the one who likes Pomegranate. D sits second to the left of the one who likes Banana. B does not
like Grapes and C does not like Mango.

Who among the following likes Pomegranate?

3.

1
2.
3.
4

A
C
F
D
E

Testbook Solution Correct Option - 4

Que. 67 Who sits second to the right to the one who likes Mango?

1.
2.
3.
4.
5.

W O

D

A

Testbook Solution Correct Option - 1



Que. 68 How many persons sit between F and B when counted in clockwise direction with respect to F?

1.
2.
3.
4.
5.

1
2
4
3

0

Testbook Solution Correct Option - 4

Que. 69 Which of the following combination is true?

1.
2.
3.
4.
5.

F - Pomegranate
A - Apple
D - Mango
B - Orange

C - Banana

Testbook Solution Correct Option - 5

Que. 70  Which of the following statement is true about C?

1.
2.
3.
4.
5.

C likes Oranges
B is immediate neighbor of C
C sits second to the left of D
Only I and II are true
None of these

Testbook Solution Correct Option - 2

Que. 71 Ifitis possible to make only one 4 letters meaningful word without repetition of the letter with the

third, fourth, sixth and the eighth letters of the word ‘RAVISHMENT’, which would be the third

letter from the left of the word? If more than one such word can be formed, give X as the answer. If no such
word can be formed, give K as your answer.

1.
2.
3.
4.
5.

I

v
H
K
X

Testbook Solution Correct Option - 2

Que. 72 Directions: Study the following information to answer the given questions.

12 persons are sitting in a parallel row such that six persons sit in each row. Persons in row 1 face

south and persons in row 2 face north. A, B, C, D, E and F sit in row 1 while P, Q, R, S,T and U in row 2. F
sits third to the right of one, who sits opposite to U. One person sits between F and A. F does not sit at any
end. E sits opposite to T. Three persons sit between T and S. T does not sit at any extreme end. B sits
opposite to P, who is not adjacent to T. C does not sit at extreme end or opposite to Q.

Who among the following sits immediate left of R?

1.

2.
3.
4

S

= T O



5. U
Testbook Solution Correct Option - 2

Que. 73 How many persons sit between A and D in the same row?

1. One
2. Two

3. Three
4. Four

5. Noone

Testbook Solution Correct Option - 4

Que. 74 Who sits opposite to C?

1. P
2. Q
3. R
4. S
5. U

Testbook Solution Correct Option - 3

Que. 75 Find the odd one out.

1. A
2. D
3. F
4. S
5. U

Testbook Solution Correct Option - 3

Que. 76  Who sits second to the right of C?

1. B
2. A

3. E

4. F

5. Noone

Testbook Solution Correct Option - 1

Que. 77 How many such pairs of digits are there in the number ‘81346528’, each of which has as many
digits between them in the number (both forward and backward direction) as they have between
them in the numerical series?

1. One
2. Two
3. Three
4. Four

5. More than four
Testbook Solution Correct Option - 5



Que. 78 Directions: In the question below are given three statements followed by two conclusions. You

have to take the given statements to be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given conclusions logically follows from
the given statements disregarding commonly known facts.

Statements:

Some Turtle are Cute.

Only a few Cute are Rabbit.

Only a few Rabbit are White.

Conclusions:

1. All Turtle can be Rabbit.

II. Some Rabbit are not White is a possibility.
1. Only Conclusion II follows
2. Only Conclusion I follows
3. Neither conclusion I nor II follows
4. Both Conclusion I and II follows
5.  Either conclusion I or II follows

Testbook Solution Correct Option - 2

Que. 79 Direction: In the question below are given three statements followed by two conclusions I, II. You
have to take the given statements to be true even if they seem to be at variance from commonly
known facts, Read all the given conclusions and then decide which of the following conclusions logically
follows from the given statements disregarding commonly known facts

Statements:
Some Boxes are High.
Only a few High are Low.
Some Low are not Down.
Conclusions:
I. Some Low are High is a possibility.
II. All Boxes can be Low.
1. Only Conclusion I follows
2. Only Conclusion II follows
3. Only Conclusion lii follows
4. Both Conclusion I and II follows
5. Both Conclusion I and III follows
Testbook Solution Correct Option - 2

Que. 80 Direction: In the question below are given three statements followed by three conclusions I, II and
II1. You have to take the given statements to be true even if they seem to be at variance from
commonly known facts, Read all the given conclusions and then decide which of the following conclusions
logically follows from the given statements disregarding commonly known facts.

Statements:

Only a few Keys are Button.

Some Button are Switch Board.

No Switch Board is Wires.

Conclusions:

I. Some Button are not Wires is a possibility.
II. Some Keys are Switch Board.



III. All Button being Keys is a possibility.
1. Only Conclusion I follows
2. Only Conclusion II follows
3. Only Conclusion III follows
4.  Both Conclusion I and II follows
5. None follows

Testbook Solution Correct Option - 3

Que. 81 Direction: In the question below are given three statements followed by two conclusions
numbered I and II. You have to take the given statements to be true even if they seem to be at
variance with commonly known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding commonly known facts.

Statements:
Only a few pizza is maggie.
Some maggie is burger.
No pasta is pizza
Conclusions:
I. Some burger can be pasta.
II. All pizza is maggie.
1. Only conclusion I follow
2. Only conclusion II follow
3. Either conclusions I or II follows
4. Neither conclusions I nor II follows
5. Both conclusion I and II follow
Testbook Solution Correct Option - 1

Que. 82 Directions: In the question below are given three statements followed by two conclusions. You

have to take the given statements to be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given conclusions logically follows from
the given statements disregarding commonly known facts.

Statements:
I. Some ratios are percent
II. All percent are fractions
III. Only a few fractions are sections
Conclusions:
I. Some ratios are not sections
II. All ratios are sections
1. Only conclusion I follows
2. Only conclusion II follows
3. Neither conclusion I nor II follows
4. Both conclusion I and II follows
5. Either conclusion I or II follows
Testbook Solution Correct Option - 5

Que. 83 Direction: Read the following information carefully and answer the questions that follow:



There are ten persons namely A, B, C, D, E, F, G, H, | and J attending the meeting on either 13th or 24t of
January, February, March, April and May.

Only two persons attend the meeting before E. Three persons attend the meeting between B and H. F attends
the meeting in March. B attends the meeting on the 24™ of the month which has the least number of days.
A and D attend on odd dates. D attends on the month which has 30 days. Two persons attend the meeting
between J and D. J attends the meeting immediately after I. Two persons attend the meeting between G and I.

Who attends the meeting on 24t g anuary?

1. J
2. C
3. B
4. G
5. H

Testbook Solution Correct Option - 2

Que. 84 How many persons attend the meeting between B and I?

1. Two
2.  Five

3. Six

4. One

5. Four

Testbook Solution Correct Option - 5

Que. 85 Who attends the meeting immediately after F?

1. B
2. G
3. E
4. H
5. 1

Testbook Solution Correct Option - 2

Que. 86 In which month does J attend the meeting?

1. February
2.  March

3. January

4. May

5. April

Testbook Solution Correct Option - 4

Que. 87 Who attends the meeting immediately before C?
1. B

2
3.
4.
5

T Q » m



Testbook Solution Correct Option - 3

Que. 88 Directions: Answer these questions based on the following information.

There are 8 members in a family A, B, C, D, E, F, G and H. There are two couples in this family,
each couple having only one son and one daughter. D is the only son of B. D is the only brother of A. A’s
father-in-law is E. G is the sister of F. A has only one son and one daughter. F is the only son of A. C is the
mother-in-law of H.

How is C related to G?
1. Mother
2. Father
3. Maternal grandfather
4. Maternal grandmother
5. Uncle
Testbook Solution Correct Option - 4

Que. 89 How is H related to B?
1. Daughter-in-law
2. Son-in-law
3. Daughter
4. Son
5. None of the above
Testbook Solution Correct Option - 2

Que. 90 How is A related to E?

1. Nephew

2. Niece

3. Daughter-in-law
4.  Daughter

5. None of the above
Testbook Solution Correct Option - 3

Que. 91 Eight persons P, Q, R, S, T, U, V and W are sitting in a row. All of them are facing North. Each of
them has a different profession i.e, Engineer, Doctor, C. A., Teacher, Lawyer, Singer, Actor, and
Entrepreneur but not necessarily in the same order.

R and Q are sitting at the extreme end of the row. Three persons sit between R and the one who is a Doctor.
Two persons sit between the one who is an Engineer and the one who is a Doctor. W and U are immediate
neighbors of S, who is a Doctor. V sits immediately to the left of W. One person sits between the person who
isa C. A. and U, who is a Teacher. P is not an Actor. P sits immediately to the left of Q, who is an Engineer.
The Entrepreneur is not a neighbor of a Lawyer. Entrepreneur sits second to the right of Singer.

Which among the following is true?
R is an Actor
Q is a Singer
T is an Actor

P is a teacher

I

U is a Doctor



Testbook Solution Correct Option - 3

Que. 92 What is the profession of the person who sits fourth from the right end of the row?
1. Doctor

2.  Lawyer
3. Engineer
4. Actor

5. C.A

Testbook Solution Correct Option - 1

Que. 93 Who among the following person sits to the immediate right of R?

1. \Y
2. S
3. T
4. U
5. P

Testbook Solution Correct Option - 3

Que. 94 Four of the following are alike in a certain way and form a group. Which of the following does not
belong to that group?

1.  Singer, Entrepreneur
2. Actor, C.A.
3. Entrepreneur, Doctor
4. C. A., Teacher
5. Doctor, Engineer
Testbook Solution Correct Option - 5

Que. 95 Which among the following pairs sit in the middle of the row?

1. S-P
2. U-Q
3. W-S
4. R-T
5. R-Q

Testbook Solution Correct Option - 3

Que. 96 Direction: Study the given information and answer the following questions:

Nikunj starts walking from point B and walks 8m towards the west to reach point M, then he takes
a right turn and walks for 11m to reach point X. From point X he takes a left turn and walks for 10m to reach
point N, from point N he walks 12m south direction to reach point W, then takes a left turn and walks 15m to
reach point O, from point O he takes a left turn and walk for 12 m and reaches point P, then take a right turn
and walk for 3m and reach point Q, which is the final position.

What is the shortest distance between point O and point B?
1. 5\2m
2. 12m
3. V10m



4. 2V10m
5. None of these
Testbook Solution Correct Option - 3

Que. 97 What is the direction of point M with respect to point N?

1. North
2. South-east
3.  South

4. FEast

5. None of these
Testbook Solution Correct Option - 2

Que. 98 What is the distance between point B and point Q?

1. Ilm
2. 12m
3. 13m
4. 20m

5.  None of these
Testbook Solution Correct Option - 1

Que. 99 Direction: Read the following information carefully and answer the given questions:

There are six family members A, B, C, D, E and F and all of them are of different age. A is
younger than only one person. E is older than B and D but not as old as A. D is older than only one person. F
is the youngest in the family.

Who is older than D but younger than E?

1. B
2. A
3. C
4. F

5. None of these
Testbook Solution Correct Option - 1

Que. 100 Ifin a certain code language ORANGE is coded as RRFNNE, then how CUPBOARD will be
coded in the same language?

1. FUUBFAAD

2. XUGHVAAD
3. XUUBVAIW
4. FUUBVAAD

5. FUUBVAZE
Testbook Solution Correct Option - 4



